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] 550 50 lly 1B ( gl aqu; Jalf S Le w{-
.uuwml_s,sg,“{c 180 m le 100m le 20m la
AL 558 5,0 Ga o, (d 120m ld

AL S5y el Gy Dbl i
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ddulal) aluay) salell Hae wlll sl a9 ,2allg adiill 5 30>
Ciblesoso /] (2018) sl islo Y PR |-y

S g n gl el e pd) A8 8. oldlas) B8.30e
1200 kg ilo o aliS)) slilas) L fL/4, -L/S) a

Y

A

2,00 kg aat=s

{x.qu\ 300 kg a:L:s

(L.0)

1 & 1 &
X:ng,.m,. and Y:Eg}',—mi.

XMy + X1y + XM,

X

1 :
=x, =—|X(m +m, +m, )—x,m, —x,m, |
m, +m, +m, L ' o i
1 .,
b =m—[\Y{m1 +my+m, ) —y,m, —y,m,).
1
r 1 ™
v =L
L2 kg |

f%{_z kg+3ke+4kg)—L(3kg)—0(4 kg;}=_§L
. b,

(1 ) L, [ 1224 ] 1
— | — || —=(2'Kkg +3'kgh 4 kd) 03 kgl e k) |=L1
v, |_12ng![& 5 (kg #5kgh 4 kg) “o(3kg) | 2]{ B) =15

g

b

L

H—“‘“;(B.uu m, 4.00 m)

m,

3550, 4 phs 2al) dmas he opSe pny § Jlis Sblslyy iy B.31e
placl) da¥l i 43 ol o gall e 14 Laat ddad ae il e
I CL AN FPRNEC VPR TPRY NPT, | IE PR PLA U

m, 40.0 kg w2t o glylys casy Ly (4.00 m ,3.00 M) :c 30.0 kg
- 3 OsSe pes 3 osaiy byt of gal iy (=200 m . —2.00 m) a
o Ll LS 15,0 9%, oy 20.0 kg cliS glaly iy ol cony 1S ppadles
(-2.00 m, ~2.00 m) 2 jlyre duaidl pSsy Joal) dlais sie B mblglydl e gyl

X:iixr.mr. and Y =%Z:yr.mr..

=l

1 . {_xlml _x;_lm-rj .. .
X=0, X =—(x,m, +x,m, +x,m, )=0 = x, =- —. Similarly, with ¥ =0,
M o M,
(—y,m, —y,m, J'
¥Yi= -
L
—(3.00 m)(30.0 kg ) —(—2.00 m )(40.0 kg
. _ (= ) g)—| M g”:—{}.S{}D o
20.0 kg
_ (—(4.00m)(30.0 kg)—(-2.00 m){40.0kg)) 00 F —(—0.500 m,—2.00 m)
}J3 = = . m 3 !
20.0 kg
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ddulal) aluay) salell Hae wlll sl a9 ,2allg adiill 5 30>
Ciblesoso /] (2018) sl islo Y PR |-y

65.0 kg aalS W1 plos le sadoy 3095 3 550 kG <liS Jor ) iy 8.32
ass 650 e 0.750 M aas ddass fe Ja ) Lia jlud 400 m dylay

32950 Ow IS F L 230 1) L3500t desna e 0.750 M aag dlan

=

0.750 m e

Taa0 ) LS o (A1 Gl ladse L3 s Jid WU play

| X

§ L JI' R -
“ : | L: ;r
0.75 m

s

. 1, . ,
The center of mass is X =E{_xmmm +x.m_|). After moving,

X= ﬁ{x;ﬂmm +xim_) =ﬁ{|{x: +a)m_ +x/m_). Since X does not change, the equations can be equated:

1 f ' ] ) 1
—((xl+a)m_ +xim j=—
X, m_ +Xx_m_—am

I{x‘-l'!'ljlrlfl'.l +xEmC ]

m

e . ' r r
Thisimplies x m_+xm_=xm_+xm_+am_ = x_=
m_+m

(3.25 m)(55.0 kg ) +(2.00 m )(65.0 kg ) —(~1.25 m)(55.0 kg
55.0 kg +65.0 kg
Then d=3.1458 m-2.00 m =1.1458 m.

CALCULATE: x = =3.1458 m

LalzS azl dral &)l gous 00 3.50 kg zleS o) ds Ll Jula a3, B33
ot pilas) G lidly 8kl oa JS padass 400 M/s ac,— 2.00 kg
Totalll ra a8l pllach GLiS 55,0 dgailt de pall jlaza Lo (8

GsSl) pUaalt S 5,0 ) dpactl dyledly GaaLid) Glagaalt glic o L (D
Sousy palacdl L3 Gl

. . — [ 1 — — ¥ {mtﬁi}
(a) Substituting v_=0 and M=m_+m,, V=—(miv_+myv,) becomes V=— .
M ' (m.+m,)

(3.50 kg )(4.00x m/s)

. =2.545x m/s
(3.50 kg +2.00 kg )

V=

(b) v, and ¥ before the collision are v =¥, —V and vi=v -V =-V.

¥, =(4.00x m/s)—(2.545x m/s)=1.4545x m/s, v’ =—2.545x m/s
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FEIMEN{INIVERY

[ ciblesoso /1

aolell e wlill Gl
(2018) <l 5l 8slo

a ;20 g pulsl a,jb]
Soy,—— Jldu,n

1 o1
H{ X m, +xm )= H{ x'm_+x'm

i)

TR F1)
X, m_ +Xx;m; =| d +EIm |mm +[ d+51r |1'1":E
\ / L} £

| 1
x m_+xm.=d(m_+m; _h+EImmm +?!fmf

| Xm
d_'x
m_+m,
I I -1 \m
x_ =1 —= and x, ==, therefore d :m.
2 2 m_+m,
20.0 m—2.00 m)(350. kg
={ N gJ:S.Ll[lSle
350. kg +1500. kg
V:Lim.v V= ! {m v +m. v
M = mp+m PP sn° &N

1. 1)
_Ejm Jrnm +|L~If —Eff Jmf

Mohamed atef

ot 3 dol o il G L b rls il piy 834
ol g gl b Bl e 3 Dl gou Lty indaesa U
200 M L Lyl ilyy 350, kg Lie &0!yally gL 28 L3 deaia

o Sy 5 a8 .20.0 M Wk iy 1500 kG 2,0 LS 3o iy
It § Sl eyl s of 056 aly lie i ololly Bl e
] o) § il sl il alSy I il lya daglaa 2pry e
e s dal] e dpl) s ) Bll 56 o ) gt
Syl pSie 158 il o 381 Ol 1 a1 g ) ) s

ot 10.0kg LabllsS pead) Lo gl iy gySdl gy ga lisy 8,350
Lagors 3,00 kG LaliS dds 5,5 o)) ¥aliiy bl e Liguina] nierlsa
s ey 8,80 L2l 82y 0.0 K JLudl Lo il LN 215 s
sy 450 kG el e I ol 205 s Loy J0.0 M/S Loz
el et 1l o 2 12,0 S Lo s dprt iy 8,00 L1
Glpa daplas plasily el

e gall cllal 2ol % 80 Ll e gl sl 2l (a

B A g e ol e 0 L) -3 PR FOR |

6 o 8,90 b sy gl e i1 ol 3 i

W e Lk ) 3] i 3,50 et e il il 14 e
) 3o 4 A Dbl sy Lo e ,F.U'l wdLiall

5,80 o) sy gl L gl Ul Ly e A el id)

el ped 3 Ly o G apgedl clasbasll ga yaall J48 gt 8.37+
i g 16726-1077 kg i ugig,p o, 18] gatis sl dalia 3

S 116 (SN) amd iy patassly € apuinll i pos i 70.0% Lalaia
) sl dobr J) dpmidly 380 5,0 At e L3 19240107 kg

N APTVEN PR T TV T || *,1'

}: myv,
I'?‘i!]:I + m_

(1.6726-107 kg )(0.700c )

=0.0060329¢

) (16726107 kg |+(1.9240-107 kg
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Lalad) aluadl wololl e bl all ad yo0ll g auleill 5 1>
Cbleseso /1 (2018) <l sl slo So 4wy

i Hi...-.,,. (200 rru"s 4.00 m/s) a..q._u PPy ,.l.,.., muum znum}
dgral) iz gy (1.00mM 400 M) se 3.00 kg claS il LN geadt
{4{)0 m/s .0}

ALl alsS S 1 gl e, ully 23l 21 (B

WS Sy ar e pear JE) dgaill e ol culpriay £330 )t b

1.0 3.0 . 5.0 7.0

oS ('S

1, . 1 .
X =E1'Il,ﬂ] +x,m, ) and Y:E(}Hml +y,m, ).

V., =—(v, m +v, m,}) and V, =ﬁ{'v]}, m, +v, n, ).
1 . y .
X= 2.00 2.00 kg )+ (4.00 (3.00 k =3.20
(2) 2.00 kg +3.00 kg \ m)( 8)+( m )\ 8)) m
1 . '
= 6.00 m )(2.00 kg ) +(1.00 m )(3.00 kg ) ) =3.00 m
2.00 kg +3.00 kg ( A g)+( N £))
1

= (4.00 m/s)(2.00 kg )+0(3.00 kg )) =1.60 m/s
2.00 kg + 3.00 kg 3 '[ &) g))

1

r

(2.00 m/s )(2:00 kg ) +(4.00 m/s }(3.00 kg ) ) = 3.20 m/s

2UDkg+3l]leg{

Lo jlany 5z sy ol gos My, = 1.20 kg kS LI 32, B.40es
“padacald” S 3 pbige ga LS WJISEnY) gae ad) pla e 250 MY/s
J5L 15 st oSy 110 M/S Lajlais e pess Jlugdl gomi ooy M1, 43135 s
szt prmall (Sl fon) wndans le dlggesy wdladh 3300 pmsy
g e ey wiplly Sl o ,(,u’n plaadl I Rl Logplachl soe

I Alaoll 3 Uy 35t
= SV e U L by
]—)- gl plas e

eaSll ALS 5,0 a5 {E

B \et L b= 0370 m sl
sy h Caspll ALS ads W53
= - — el F yuw — s9-azll L (b
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Aakal) plusa¥l solall e Wl Gl @ szall g sl 8,15
ibleoso /] (2018) eyl 83lo [ PR - W
adatls byl n,rFI-" adadl iq..-l.i- faalpmadt S, 2 dagll pasladl . B, a
ITPEIN | IS PP TRREEN (R P PR LU tg..u gl Jalsa) s
(B as aig B el ) cgash Via 3 218N G Yoy i) plasind g )
U alS dagall a pole i gl sliad 3 Joyy fesle 2o U5 B} B
w2 iy eadl phall el
iy Vg, = BOO. M/S £y lall o oy piged dgalalt palall de 3l (b
Vehem = 400 km/s Do 3L oS o lyal) clS o Jonsl psle e
RSP PRCHL JELIPR T PP ENE I
J = ! Tvdm Y (m—m, ). Now, m—m m so J
e 1T =T (T . y Ty = T andag =
N mexpcndedg my mr:rpe:rbd:-:lg e
v
: Imcrm _ _toy _ 800. m/s _81.55s, Imclchm _ V._-hn:m 4.00-10° m/s 40775
g {931mfs ) g (9.81 m/s’ |
v
spectoy Moy _ 800. 1:1!5 —0.200
J e, chem Venem  300-10° m/s
(@) Jpecroy =81.68
(b) J e, chem =408 s and Isml try =D.2DDI§M. e
L.Jl'"_"‘" I-'lhs.'l -I...un.ﬁ." & x-“"rJ -l-JJJJl L-h..l-" I - s aleint -..'HIJ E_,.r- B’ 42.
g de s aas TI5 kg claay J8 akeSy oLaaadl ala, 2ieS ol wbes
- T L.ﬂ_i_"lij-‘._ul.ld_.éJLlJIJ_‘?ﬂDgl_ir&‘j -I.il_rﬂ.u1‘q__l_1j11.1_h;
ool A5 A sy L ampbay e 600 8 4ay el Loy s%y BOO mifs
lia JMs LN o) B sliaall 3 La¥) aadps oo slaall 2 LS,
feigll
v.=0, v.=v_ In(m /m )s where m.=m and m. =m—Am m—d—m_ﬁ Then
t
{ i
v.,=v_In 2 and Ax =—v At
dm
m———At
\ dt J
’ 115k )
= (800. m/s lni : |=029223 m/s
| 115 kg —(0.00700 kg/s )(6.00 s ) |
1 .
Ax = 5(0.29223 m/s}(6.00 s)=0.87669 m
19




FEIMEN{INIVERY
iblesoso /|

aolell e wlill Gl
(2018) <l 5l 8slo

a ;20 g pulsl a,sb]
Soy,—— Jldu,n

mp+m

m,

=y In ,and At

1"r' C

=Ax/v..

(5190.0 kg +1.551-10° kg
v, =(5:600-10° mfs]ln[ ke &
\ 5190.0 kg

3.82.10°
Ar=222 M 1o886 s

19209 m/s

]: 19209 m/s,

Jumyy P00 KG | K1 slinall § £yslal idlall ilyudt ils B.430
iy cllgid) ag3yl) g all 2,59 ) Sy gyl g 1551410° kg
S e o) b pgSall gy o by pyplall 3 231 5600 km/s
il ol b izl il 23yl 3 s lap b a3l dgaall 2ol
s ally s o oLl 382-10°Kkm

ilyls Lo fe JS3 132 kG GBS b SO adan Al Gl i B.44ee

D470 M/5 ol az e Jaas eV Ltds asl s iy

ALl e algid) aladl agell sl B

agall jlany Ly caislall ne 0950 M alpds all ol S oo pdy 3l 3 ik
fead ) S k) L le Wyl

dm _dh
(a) E, _vﬁzmazv,ﬁv:vﬂ
(h} F apphed _mg = Fapp]w
CALCULATE:

(a) F
(b)

an'
f't!rlul

=(0.470 m/s }2{1.3?, kg/m)=0.2916 N

J=F_ +mg=vi+mg=v'i+ihg

Fpiea =0.2916 N +(1:32 kg/m )(0:150 m)(9:81- m/s’ }= 02916 N +1.942 N=2.234 N

:’..!’ﬁ Agoaia AL o 53.2 MN ﬁJ.pf Z3a slnd R R n_"__,;-..- E.'..'J' E.ﬂgii
478 km/s pls i )
wellyz 11 syt dmrdt) ry 5 Jase axyl fa

axgld .7.0410% kg sty alagiy 2.12-10% kg aslan¥l absh cals 15) (b

N[ PR [N MW EXTES I PRSI 4 PP L) TIPSO PO [ - FOX I PR

v=0 V=2 alald 558 s pdes il
G a A gl &b sy i ) sl s el daugs anl fC
lmight bia 2 gl 22SH 3905 Jaas
dm dm F 53.2.10° N
Fipras =V T TR L (a) dm _ ) =11129.7 kg/s
t t v, dt {4 78-10° m/s)
", . _106 '
v, =0 = vf=vcln{ - } (b) v, =(4.78-10° m/s )In M]:l.sz:fﬁ-m*‘ m/s
m, 71 7.04.10* kg |
dm Am A Av v, (dm| |
_ = N aa\' = = [ l {Vi =D]
dt aY s dm [ dit Af mhodt ) !
ll 6276-10° lnr's}
(c) a, = —(11129.7 kg/s ) =88.38 m/s"

2.12-10° k 7.04-10° k
g— g
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20
050 3136836




|

EEWEN IR wolall Hize Wl all
ciblesaso /] (2018) b3l slo

a ;20 g pulsl a,jb]
Soy,—— Jldu,n

A 3305 sy MY fae Glaa gl e dpe calll B.4bes

fa sl ol ey el e dnte S i, Jew Jai AT e gyl
aalt A5 s Ul daiall Jast (2 Jeih) AT agg5) 3palt e 100 m?
Laaghyy daiially Jous 200 Jouill all alety bode ags 0 Jadttl 208 | 45 A
o sl ) I.|.h=..r| Jf,,._. U] I L,s.;, 4EID I-:g Bk .ul l,;. ESE
25 0 mfs gl 4....-'.!...-' FFTa -.:_,_.u F R | ,_’!,

Jemzy o a3 3 6zl 3y ,.53 sl iy e dalb i 1) (2

iy o) dpal spant {ate guad db¥) 1 {alal ) Cal e ol
Sassiadl
NICRCRPSN . I PRCT L ORI LI S TN N g G afl 1S G1S oS b

dats il il @7 sy llganal) LN e FLI GGSI Jalasi) Jald
(L daia,

g aokadl” lia uba e Lo (€

Jisd U3 @t dlse s oS Ud

(a) Consider the first leg of the trip before the valve is switched:

In the second leg, v_ changes direction, and the similar equation is

o s alasdl
v,—v,=v. In(M,/M,)=v,=v_ In(M /M,).
vy—v,==v_In(M,/M;)=v,=v_In(M,/M,).
}=ln{'M21’M3},urM [ M, =M, /M. Then M, =,/M,M,. Now,

Then it must be that In( M/ M

M,-M, _dm_ dV _ . _M-M, M, JMM
IZ p dt ’ pﬂ p_ .
dt dt
Ml“
(b) From above, M, =,/M M, m
x 2/
_dm _ dV
c) F —V —=—V_p—
I:] thrust c dr cp df
E
d) G, —_thmst
(d) a, M,
CALCULATE:
1400. kg —,/( 400. kg )(1400. kg
L g \/l. _ gl g}: 95.5 s
(1000. kg/m” }{0.003333 m’/s |
" (1400. kg)

(b) M, =\/{'4DIZI. kg )(1400. kg ) =748.33 kg, v, =(25.0 m/s|In

— l: 15.66 m/s
(74833 kg)

(c) Before the valve is switched, v_ is directed backward, i.e. v_ =-25.0 m/s. Then

E, .. =—(-25.0 m/s)(1000. kg/m’ )(0.003333 m*/s)=83.33 N forward. After the valve is switched, F,
is directed backward, i.e. P:hmﬂ =-83.33N.
(d) Before the valve is switched, a, = M =0.111355 m/s".

' 74833 kg

Mohamed atef

050 3136836

21



